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Frachi Exam-F- C1 Seluhion

A. EXAMPLE OF A CORRECT SOLUTION

> The Cost of Purchasing the Music Playlist

Determining the number of songs for each genre and their costs...

Pop Rock n Roll Hip Hop
0_x o_x 20_x

80 150 60 150 60 150

x =75 songs X =25songs x =50 songs

Cost of songs far each type

75%x$1.50=$112.50 25%$1.00 =$25.00 50x3$1.25=362.50

Total cost = $112.50 + $25.00 + $62.50
=$200.00

Therefore it costs $200.00 to purchase all of the music for the party.

> The Cost of Purchasing the Photo Booth Backdrop

Finding length of backdrop... Finding area of backdrop. ..
. A=hw
a’+b'=c? A=6x32
a? +(32)" =(6.8) A4=192m*
a® +10.24=46.24
a* =36
a=436
a=6m
Ceost of backdrop...
19.2m % $475 =§91.20
m

Therefore it costs $91.20 to purchase the backdrop for the photo booth.

Secondary 3, WQASB
Competency 1, Teacher Guide

¥ The Cost of “Party On” Punch

Determine the height of the small glass...

V=240 mlL = 240 cm®

V=dh
240 = (20cm* Jh
h=12 cm

Determine the Scale Factor (K)...

E= Parge _680em
By 12em

k=25

K =125

Determine the volume of the large container...

=Y,

smalf

Vioge
Viags = (125)240cm?)
Vg =30 000cm* .
Determine the volume of all the drinks required...

300 students x 2 drinks/student = 600 drinks
600 x 240 cm® = 144 000 cm®

Determine number of large containers. ..

144000
30000

=4.8 containers

Rounds up to 5 containers required. You can only buy full containers.

Final cost of the containers...

5 containers x $50 each = $250

Therefore it costs $250 to purchase the Party on Punch containers.

Secondary 3, WQSB
Competency 1, Teacher Guide

> The Cost of Constructing the “Dance-Off” Trophy

Volume of the pyramid Volume of the hemisphere Volume gf the rectangular
P=4s r:£=206m—10cm based prism
P _80cm 2 2 V=Lxwxh
§=g =" = 20cm Vv =(30cm)(20cm)(5em)
yo2z’ V =2000 om®
v =Ah i
3 (2r) (10em)®
vy
Ve (20cm)*(12cm) 3
3 V = 2094.4cm®
V =1600cm’

Caleulating the total volume...
V= 1600 + 2094.4 + 3000
=6694.4cm®  or6693.3 om® if 3.14 is used.
Convert from cm® fo Litres and find costs....
6694.4 cm® =6.694L

6.694Lx$2%=$160

Total cost with pair of dancers...

Cr=$160 + $10
=$170

Therefore it costs $170 to purchase the trophy.

Secondary 3, WQSB
Competency 1, Teacher Guide

» Choosing the Least Expensive Venue to Host the Party
The value of x

Appraham = Agrgrson
(x—5)(x +10)=x*+7x-100
X% +5x -50=x* +7x—-100
5x—50=T7x-100
—2x=-50
x=25

Area of Abraham Centre
A=x?+5x-50
A=(25) +5(25)-50
A=625+125-50
A=700m?

. The area of Bronson Theatre is also 700 m?

Cost of renting Abraham Center Cost of renting Bronson Theatre
f(a)=0.75a 200 f(a)=0.5a+250
(700)=0.75(700)+200 £(700) = 0.5(700)+ 250
f(700)=$725 f(700) = $600
Useable Area of City Hall

Expression for the length dimension of the coat room in City Hall

1A
w
l=6y2—20y
2y
£=3y-10

Secondary 3, WQSB
Competency 1, Teacher Guide




Value of y from the perimeter of City Hall

P=2w+2!
P =2(3y +3y -10)+ 22y +y +15)
P =2(6y —10)+2(3y +15)
P=12y-20+6y+30
P=18y+10

100=18y +10

90="18y
y=5

Area of the coat room at City Hall

Agear =6y =20y

A, =615 ~20(5)

Aggs =150 -100

Agsy =50m?

Numerical dimensions of City Hall

£2=3y+15 w =6y —10 Acityhan = I X W
£=3(5)+15 w=8(5)-10 Aciyhan =30 mx20m
2= =

30m w=20m Agyran = 600m?

Useable area of City Hall aka Party Room

A= Ay ra = Accat
A=600-50
A=550m®

Therefore the area of City Hall is 550 m?

Determining Area required for fire safety.....

300 guests x 2 m¥guest = 600 m?
City Hall does not meet the fire safety reguiation (550 m? < 800 m?).

Secondary 3, WQSB
Competency 1, Teacher Guide

> Total Costs of the Party Justification

Expense Cost ($)
Music 200
Phato Booth 91.20
Dance-Off Trophy 170
“Party On” Punch 250
(7 Total 711.20

Amount teft in the budget for the venue
$1400 — $711.20 = $688.80
The cost of the venue cannot exceed $688.80.

. Abraham Center is too expensive for the amount of money left in the budget.
($725 > $688.80). The only possible venue is Bronsan Theatre ($600 < $688.80).

> TOTAL COST OF THE PARTY
$711.20 + $600 = $1311.20
» CONGLUSION
The least expensive venue that can hold the party is Bronson Theatre.
The total cost of the partis $1311.20
Therefore Bronson Theatre is the only possible venue to host the party because it is
within budget and meets the fire safety regulations.
» Caloulating Bronson Theatre Costs

$711.20 + $600 = $1311.20

Answer
The least expensive venue that can hold the party is Bronson Theatre.

The total cost of the party is $1 311.20.

Secondary 3, WQS8
Competency 1, Teacher Guide




